A #L X

auji
cu

% ZFEKEMBZIEEI29TRX
5 FrIRF T RFHRF249B M E~IRF T AFHF251F ML
A BB § M6 %3 A2 B Rl - % 09 B 30 9
A # 15 FIRF.ByrELTKESRITE ABLESE
% Ot % ¥ E M & | xEFRBEME| %F 4+ %
M M 22| s]
FiALEE
3,256,000 3,256,000 2,922,700 3,091,000
M|B M|c M|D M
Fith&%a
2,960,000 2,960,000 2,657,000 2,810,000
e R B/A 100.0 %|c/B 89.8 %|D/B 949 %
ES &= £ £ 1 [@ £ 2 [@
| () ¥ A3y A A
2,830,000
— 7 £
2 (**)T_ &75\13:_:1& 2,850,000
A
3 (B)HhERIEIXEM
A, 2,810,000 % Al
5}5 =
4 (;E)E]-Enlﬁﬁ 2’900,000
hn
w5 HITIERBITE(H) 2870000
Hle Zams
A% (%) 5 B
&
.. 7
Alsg
#L
9
b3
Rl10
11
12

IRFE. BBy BKERER



